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QUESTION 1

Which two statements are true regarding bidirectional PIM? (Choose two.)
A. Forwarding paths can be suboptimal.

B. Devices only store group specific entries.

C. It uses multicast tunneling to forward traffic.

D. It eliminates the need for an RP.

Correct Answer: AB

QUESTION 2

Click the Exhibit button.
98- ge-0/0/1_ge-0/0/1

=2 ¥ AREA 0
= 10.42.100.0/24

user@rRl> show route 10.42.100.0

inet.0: 61 destinations, 64 routes (61l active, 0
holddown, 0 hidden)
+ = Active Route, — = Last Active, * = Both

10.42.100.0/24* [0SPF3/150] 00:00:11, metric 0, tag 0
> to 10.42.18.1 via ge-0/0/1.0

Referring to the exhibit, how is R1 learning the route from R2?

A. R2 has an export policy with external type 2 configured.

B. R2 has interface ge-0/0/2 configured as a passive interface under OSPFv3.
C. R2 has interface ge-0/0/2 configured in another area under OSPFv3.

D. R2 has an export policy with external type 1 configured.

Correct Answer: D
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QUESTION 3

Which three types of ports are used for Junos Fusion Enterprise? (Choose three.)
A. extended port

B. authenticated port

C. cascade port

D. uplink port

E. designated port

Correct Answer: ACD

QUESTION 4

What are two supported POE management modes? (Choose two.)
A. class

B. standalone

C. static

D. mixed

Correct Answer: AC

QUESTION 5

In a Layer 2 environment where 802.1X is deployed, which two statements are correct? (Choose two.)
A. RADIUS messages are exchanged between the supplicant and the authenticator.

B. RADIUS messages are exchanged between the authenticator and the authentication server.

C. Extensible Authentication Protocol messages are exchanged between the authenticator and the authentication
server.

D. Extensible Authentication Protocol messages are exchanged between the supplicant and the authenticator.

Correct Answer: BD
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